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v. READING FOR THE MAIN IDEA & MAIN TOPIC
gde ol 25 Sks5e 4 Ysenoe MAIN IDEA & Ly, o V15

“What would be the best topic for the above passage?” / “what does the passage mainely discuss ...”
“What does the author mainly discuss?” / “The main idea of this passage is...”
“The best title for the passage is...”
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“What is the main topic of the passage?”
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v. Answering Fact QuesTions
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According to the passage, all of the following are true EXCEPT ...
The author mentions all of the following EXCEPT ...
Which of the following is NOT mentioned as ...
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t. READING FOR INFERENCE
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FACT: All children acquire their first language before the age of four.
INFERENCE: All six-year-old children speak a language.
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From the passage, it can inferred that....
The author implies that ...
8. VOCABULARY IN CONTEXT QUESTIONS
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Part C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best choice (V), (),
(¥), or (£). Then mark the correct choice on your answer sheet.
Passage ):

Vygotsky’s writings have had a substantial impact upon the theory and practice of cognitive psy chology and
its application to education. One of this primary contentions was that education should be designed to accelerate
children’s cognitive development, rather than providing experiences at individuals’ current level of cognitive
maturity.

He argued that meaning is socially constructed, hence, hearning and cognitive development is affected by
the interactions that an individual has with another who is more skilled or knowledgeable. Two concepts have
been used to explain the manner in which an individual gains knowledge: mediation and internalization.

Mediation refers to the need for someone other than the learner to translate knowledge about the society and
culture so that it can be internalized by the learner to translate knowledge about the society and culture so that it
can be internalized by the learner. Internalization refers to the individual’s “ownership” of concepts or meaning
that have been provided through instruction. That is, children must comprehend meaning and integrate the
knowledge into their own thinking. In other words, they transform external stimuli to internal “codes” that are
consistent with their own knowledge base by changing and modifying the original ideas, and applying their
unique cognitive character to them.

How one learns about the world, therefore, is influenced by one’s “readiness” to learn, and how one is
taught. Vygotsky developed the concept of zone of proximal development to express the potential of the
individual to learn.

oy e ol
cognitive psychology: sl owbuidly,
cognitive development: osUis Joxi
cognitive maturity: st b
internalization: gjlw g,
stimuliz () yxo
zone of proximal development: o, o & ik

I. The main point of the passage is that...... (Main Idea Question)
1) zones of proximal development should be taught

v) mediation should be the main goal of education
) education contributes to children’s cognitive development
t) the main problem in the education system is internalization
¥V. Vygotsky favored the idea that............... (Fact Question)
y) translation is an important task in learning
v) education is a branch of cognitive psychology
v) fixed concepts are more helpful than changing ideas
) interactions help the construction of meaning

Y. The word “contentions” in line ¥ is closest in meaning to ............
(Vocabulary Question)
V) interests v) eliefs v) goals ) attempts
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t. The comprehension of meaning by children............
(Fact Question)
y) involves the formation of internal codes
Y) results from internalization
v) is one of the two ways to mediation
) requires completely familiar external stimuli

o.According to the passage, it is true that ............ (Fact Question)
1) the best type of education is teacher — centered
v) ideas should be modified to facilitate internalization
v) external information is internalized in the form of stimuli
£) many children’s current level of cognitive maturity is not satisfactory

Passage \E

In several countries, there has been widespread disaffection with national curricula because schools have had
difficulties in implementing them for students with special needs. A mismatch between the content and student’s
readiness to learn may occur because curriculum content is too difficult (or too easy) for the students, irrelevant
to their needs, poorly presented through inappropriate textbooks, manuals, or activities, or not reinforced by the
teacher. In many cases, curriculum content is fixed, and there may be few chances for the teacher to select topics
or activities that are motivating for both high and low achieving students. In many secondary schools, for
example, teachers must cover a prescribed curriculum regardless of the interests or specific characteristics of the
learner group (e.g. predominant cultural or socio-economic background).

An alternative approach is to have a national curriculum which has a set of agreed key learning areas and
national profiles of student progress for each area, while leaving the decisions about content to levels in the
educational process such as state/territory department of education, school districts, and individual schools. This
approach has been proposed in Australia, with limited success, party because compulsory school education
remains a state/ territory responsibility with each jurisdiction having somewhat different philosophical view and
educational models.

The resolution of curriculum formulation, and the level at which it occurs, remain an issue for each
education system. As important as it is, however, the curriculum is only one factor that contributes to successful
learning and problem-solving outcomes. Teaching and learning involves bringing the four agents into balance
through a systematic cycle of instruction. Within these constraints, the actual teaching and learning of the
classroom can be determined to meet the needs of individual students.

Curriculum: ow;s 4ol y
education system: _.ijgel sl
problem-solving: aluws Jo>
systematic: ww ol

7. The best title for the passage would be............

(Main Idea Question)
y) Curriculum in Secondary Schools

) Major Difficulties at Modern Schools
) A Mismatch between Two Types of Schools
f) Two Approaches to National Curriculum Design

V. The second approach is characterized by an emphasis on............

(Fact Question)
y) flexible curriculum content

v) compulsory education at secondary schools
v) the necessity of starting education at lower levels
) selecting the most qualified teachers in each school district
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A. The example about Australia is given to show............

(Inference Question)
1) the education process in Australia

v) how important compulsory education is
v) the application of the new curriculum
f) to what extent educational models differ from each other

4. The word "it" in line /4 refers to............
(Reference Question)
V) resolution Y) issue v) curriculum  ¥) formulation
|-. The writer believes that............ (Inference Question)

y) the curriculum issue is still unsettled

v) teaching and learning have four main goals

v) each teacher should teach only one individual

) the problem of curriculum design should be solved at the national level

Passage ¥:
Progressive educators in the early ya--'s tried to reform the traditional schools of the 1A..'s. Educators in

this group wanted to expand elementary and high-school programs and improve teaching practices. They
insisted that art, music, citizenship, home arts, and vocational training were important parts of education, along
with the academic studies. These also wanted school programs flexible enough to make maximum use of the
varying abilities of all children. These educators experimented with different ways to teach subject matter,
attitudes, and skills in relation to their use in life-like situations. These situations might include studying the
operation of local government of analyzing problems of conservation.

Progressive educators objected to the excessive use of textbooks, formal lectures, and memorizing. They
wanted students to become more actively involved in their lessons. Progressive teachers use filed trips, films,
newspapers, and a wide array of books to supplement the study of textbooks and to encourage student initiative.
The training of these teachers involves careful study of the practices and principles of professional education as
well as a broad general education.

Conservative educators stress the importance of organized knowledge in schools. They believe that schools
exist primarily to transmit systematic knowledge. They also think that the best way to do this is to devote a large
share of elementary education to “the v R’s”- reading, writing, and arithmetic. They believe that high schools

should stress the teaching of academic courses in history, English, mathematics, science, and foreign languages.
These courses, according to conservative educators, develop disciplined minds. Courses in art, music, home arts,
and vocational education are often considered “frills” by these educators.

Progressive: 1,5 < piw

vocational training: s yo;3gef

general education: ceges 390!

Conservative:| 5 cow

systematic knowledge: ww ol iils

arithmetic: clws ple

Il. The last paragraph is mainly concerned with............

(Main Idea Question)
1) the meaning of the v R’s

v) the importance of knowledge in schools
t) the elements of elementary education
¥) the types of courses favored by conservative educators

Iy. The word “array” in line Il is closest in meaning to............

(Vocabulary Question)
\) material Y) content v) supply f) shelf
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I¥*. The inclusion of courses such as home arts............ (Fact Question)

It.

y) found support in the v4--’s

) made it possible to maximally use students”’ abilities
v) was first suggested by conservative educators

£) was in line with the expansion of academic skills

In contrast to conservation educators, progressive educators.........

(Fact Question)
y) were opposed to teacher training

v) were interested in both the theory and practice of teaching
v) gave priority to formal education
) favored the inclusion of non-academic skills

. According to the passage, it is NOT true that............

(Negative Question)
V) progressive educators supported the use of textbooks.
v) the first traditional school was founded in yA- -

021-88400788

v) Ly teaching was favored by conservative educators various teaching metods were used in progressive

education
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